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H27 |43 DI 1 H27.10.31 —RoTH[ AR 60.0 [ 1200]| 35.0
H27 |43 DI 2 H27.10.31 —RoOH[ AR 700 | 1200 45.0
H27 |43 DI 3 H27.11.4 —RoOH[ AR 60.0 [ 1300 40.0
H27 |43 DR 4 H27.11.4 —RoOH[ AR 600 [ 1250 40.0
H27 |43 DI 5 H27.11.4 —RoOH[ AR 600 [ 1250 35.0
H27 |43 DI 6 H27.11.4 —RoOH[ AR 400 [ 1300 400
H27 |43 DI 7 H27.11.12 —RoTH[ AR 400 [ 1000]| 37.0
H27 |3 HIEIE 8 H27.11.13 —RoToh[ AR 60.0| 130.0| ABH
H27 |43 DI 9 H27.11.16 —RoOH[ AR 500 [ 1100 450
H27 |43 D] 10 H27.11.17 —RoTh AR 500 [ 1100 40.0
H27 |43 DR 11 H27.11.22 —RoTh AR 600 [ 1160 37.0
H27 |#;E il 12 H27.11.26 —RTH| AR 80.0 | 1400] 40.0
H27 |#;E il 13 H27.11.26 = Thl AX | 400[ 103.0] 33.0
H27 |#;E hiEE[ 14 H27.11.28 —RTH| AR 60.0 | 1300] 38.0
H27 |43 DR[| 15 H27.11.29 —RoOH[ AR 400 [ 1100 34.0
H27 |43 D] 16 H27.11.29 —RoOH[ AR 50.0 [ 1000 34.0
H27 |43 DR 17 H27.11.29 —RoOH[ AR 500 [ 1050 32.0
H27 |43 DR[| 18 H27.12.1 —RoOH[ AR 700 | 130.0] 37.0
H27 |43 HEH| 19 H27.12.1 —RoTH[ AR 500 [ 1050 30.0
H27 |43 D] 20 H27.12.2 —RoTh AR 400 [ 117.0] 420
H27 |43 HEH| 21 H27.12.3 —RoTh AR 500 107.0]| 40.0
H27 |43 DR 22 H27.12.6 —RoTh AR 500 [ 1100 37.0
H27 |43 D[] 23 H27.12.6 —RoTh AR 600 [ 1150 37.0
H27 |43 DR 24 H27.12.7 —RoTohl AR 400 [ 1050 31.0
H27 |43 D[] 25 H27.12.9 —RoTh AR 500 [ 108.0| 33.0
H27 |43 D] 26 H27.12.9 —RoTh AR 90.0 [ 1500 45.0
H27 |43 DR 27 H27.12.16 —RoOH[ AR 700 | 1250 40.0
H27 |#E R 28 H27.12.19 —RTH| AR 80.0 | 1300] 350
H27 |#E g 29 H27.12.19 —RTH| AR 500 1100] 33.0
H27 |#E 7| 30 H27.12.19 —RTH| AR 500 1100] 33.0
H27 |#E | 3t H27.12.19 —RTH| AR 500 1100] 33.0
H27 |#E | 32 H27.12.19 =+ Thl AX | 500[ 1100] 33.0
H27 |#E 7| 33 H27.12.19 —hwoThl AX | 500[ 1100] 33.0
H27 |#E | 34 H27.12.19 =+ Thl AZX | 500[ 1100] 33.0
H27 |#E il 35 H28.3.17 —RTH| AR 60.0 | 1300] 420
H27 |#E $hE| 36 H28.3.19 —RUH| AR 600 | ABR| AHP
H27 |#;E i 37 H28.3.20 —hwoThl AX | 400[ 1150] 38.0
H27 |#;E Hi [ 38 H28.3.21 —RTH| AR 60.0 | 1100] 40.0
H27 |#E 7| 39 H28.3.27 —RUH| AR 600 | ABR| AHP
H27 |#E | 40 H28.3.27 —RUH| AR 600 | ABR| AHP
H27 |#E | 4 H28.3.27 —RUH| AR 600 | ABR| AHP
H27 |#E | 42 H28.3.27 —RUH| AR 700 | FBR| AHP
H27 |#;E il 43 H28.3.27 —RTH| AR 60.0 | 1260] 450
H27 |#;E hiE| 44 H28.3.28 —RTH| AR 400 ] 1160] 36.0
H27 |#E DI 45 H28.3.29 —kTH| AR 50.0 [ 115.0 | 30.0|
H28 |2 DEE 1 H28.8.22 —RTA| AR 300| AEBEH| B
H28 |##;E DI 2 H28.8.24 —RoOHl AX 300 950 270
H28 |#;E DI 3 H28.8.24 —kwoOhl AZX ] 700 1400 37.0
H28 |##;E DI 4 H28.8.24 —RoOHl AX 300 950 300
H28 |#;E DI 5 H28.8.25 —RoOH] AX 50.0 [ 1200 40.0
H28 |#;E DI 6 H28.8.26 —RoOH] AX 150 800[ 33.0
H28 |#;E DI 7 H28.8.29 —Hwoohl AZX ] 300] 970 300
H28 |##;E DI 8 H28.8.31 —kwoOhl AZX ] 300] 820 280
H28 |#;E DI 9 H28.9.3 —oOhl AZX | 1000] 1600 45.0
H28 |#8;E HIEHE| 10 H28.9.4 —RoUH AR 60.0 | BR[| ABH
H28 |#;E DEE[ 11 H28.9.9 —RoOH] AX 80.0 [ 1300 450
H28 |#;E DHEE[ 12 H28.9.10 =R H] AX 400 850 320
H28 |#;E D[ 13 H28.9.12 =R H] AX 300 800 270
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H28 |##:F HEHE| 14 H28.9.12 =R Hl AR 400 950] 31.0
H28 |##:F DR 15 H28.9.15 —RUH| AR 300] 920] 300
H28 |##:F D] 16 H28.9.17 —RoOH[ AR 700 | 1250 37.0
H28 |##:F DR 17 H28.9.17 —RoTohl AR 500 1150 31.0
H28 |##:F D] 18 H28.10.1 —RoOH[ AR 500 [ 1200]| 35.0
H28 |##:F HEHE| 19 H28.10.1 —RTH| AR 300 1000] 30.0
H28 |##:F D] 20 H28.10.1 —RoTH[ AR 700 | 130.0] 35.0
H28 |##:F O] 21 H28.10.1 —RDH[ AX 350 950 30.0
H28 |##:F DHERE| 22 H28.10.2 = Thl AZX | 900[ 1640] 400
H28 |##:F DR[| 23 H28.10.4 —RoOH[ AR 500 [ 1320 35.0
H28 |##:F HEHE| 24 H28.10.5 = Th]l AZX | 1000] 152.0] 37.0
H28 |##:F DHEHE| 25 H28.10.5 —woTAl AZX | 1100] 1480] 370
H28 |##;E DI 26 H28.10.5 —ikoUH| AR 8| AEH| AERH
H28 |##;E DR[| 27 H28.10.5 ik UA| AR 8| AEH| AERH
H28 |##;E DI 28 H28.10.5 —ikUA| AR 8| AEH| AERH
H28 |##:F HEH| 29 H28.10.6 —RoTohl AR 250 850 31.0
H28 |##:F HEE| 30 H28.10.7 =T hl AZX | 400[ 105.0] 30.0
H28 |##:F DR[| 31 H28.10.8 —RoTh AR 60.0 [ 1050 33.0
H28 |##:F DHEHE| 32 H28.10.8 =T hl AZX | 600[ 106.0] 34.0
H28 |##;E DR[| 33 H28.10.8 ik UA| AR 8| AEH| AERH
H28 |##:F DR 34 H28.10.11 —RoOH[ AR 700 | 1340] 320
H28 |##:F D[] 35 H28.10.11 —RoTh AR 900 [ 1370 39.0
H28 |##:F D[] 36 H28.10.11 —RoTh AR 600 [ 1240]| 37.0
H28 |##:F DR[| 37 H28.10.11 —RoTohl AR 350 [ 1480 31.0
H28 |##:F HEIE| 38 H28.10.12 —+woThl AZX | 600[ 117.0] 39.0
H28 |##:F HEE| 39 H28.10.13 —RTH| AR 400 | 1000] 30.0
H28 |##:F D] 40 H28.10.14 —RoTh AR 500 [ 1200]| 32.0
H28 |##:F D] 41 H28.10.14 —RoTh AR 600 [ 1320 35.0
H28 |##:F DR 42 H28.10.15 —RTH| AR 400 | 1000] 34.0
H28 |##:F DHEIE| 43 H28.10.18 —RTH| AR 700 | 1240] 320
H28 |##:F DR 44 H28.10.19 —RTH| AR 30.0] 1000] 28.0
H28 |##:F D[] 45 H28.10.19 —RoOH[ AR 600 [ 1250 400
H28 |##:F DI 46 H28.10.20 —RDH[ AX 400 | ABE| FBH
H28 |##:F DR 47 H28.10.21 =T hl AZX | 900[ 152.0] 33.0
H28 |##:F DI 48 H28.10.22 —RoOH[ AR 80.0 [ 1350 45.0
H28 |##:F DHEIE| 49 H28.10.22 —RTH| AR 60.0| 113.0] 40.0
H28 |##:F HEIE| 50 H28.10.23 = Thl AX | 400[ 1000] 420
H28 |##:F D[ 51 H28.10.24 —RoTh AR 500 1100 35.0
H28 |##:F D[] 52 H28.10.25 —RoTh AR 700 | 1350 ] 40.0
H28 |##:F HEIE| 53 H28.10.25 —RTH| AR 60.0| 136.0] 33.0
H28 |##:F DHEE| 54 H28.10.25 —RTH| AR 55.0 | 1200] 34.0
H28 |##:F HEIE| 55 H28.10.25 —RTAH| AR 60.0 | 1280] 40.0
H28 |##:F HEIE| 56 H28.10.27 —RTH| AR 400 ] 1100] 30.0
H28 |##:F DHEIE| 57 H28.10.27 = Thl AX | 400[ 1100] 300
H28 |##:F HEIE| 58 H28.10.27 —RTH| AR 500 1320] 420
H28 |##:F HEIE| 59 H28.10.27 —woThl AX | 500[ 133.0] 400
H28 |##:F D] 60 H28.10.28 —RoTh AR 400 [ 1050 38.0
H28 |##:F DHEIE| 61 H28.10.31 = Thl AX | 400[ 1100] 38.0
H28 |##:F DHEE| 62 H28.10.31 —RTH| AR 60.0 | 1200] 43.0
H28 |##:F M| 63 H28.10.31 —RoTh AR 700 | 130.0] 45.0
H28 |##:F D] 64 H28.10.31 —RoTh AR 700 | 1350 ] 46.0
H28 |##:F D[] 65 H28.11.1 —RoOH[ AR 400 1120 37.0
H28 |##:F DHEIE| 66 H28.11.1 —RTH| AR 400 | 1100] 38.0
H28 |##:F D] 67 H28.11.3 —RoOH[ AR 60.0 [ 1200]| 35.0
H28 |##:F D[] 68 H28.11.3 —RoOH[ AR 500 [ 1150 35.0
H28 |##:F D] 69 H28.11.4 —ROH[ AR 700 | 145.0] 30.0
H28 |fH;E DR 70 H28.11.5 ROV A| AR | FHEH| FEH| AH
H28 |f#:F HER| 71 H28.11.6 —RoOH[ AR 700 | 1200 420
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H28 |##;E hiEE[ 72 H28.11.7 R TA| AR 70.0 | 1200] 35.0
H28 |##;E il 73 H28.11.8 —FRoohAl AZR ] 700 1260 420
H28 |##;E hiEl 74 H28.11.8 R UA| AR 60.0 | 1300] 39.0
H28 |#;E il 75 H28.11.8 —FRoohAl AZR ] 700 1200] 37.0
H28 |#;E il 76 H28.11.8 R OAH| AR 80.0 | 1450] 43.0
H28 |##:F DR 77 H28.11.10 —RoTh AR 80.0 [ 1420 400
H28 |#;E il 78 H28.11.10 —FRoThAl AZR ] 400 1180 340
H28 |##:F HEH| 79 H28.11.11 —RoOH[ AR 550 1200]| 37.0
H28 |##:F D] 80 H28.11.13 —RoOH[ AR 400 [ 1050 35.0
H28 |#;E HijE[ 81 H28.11.13 R TAHA| AR 60.0| 1280] 38.0
H28 |#;E il 82 H28.11.13 R OAH| AR 60.0 | 133.0] 40.0
H28 |##:F D[] 83 H28.11.13 —RoOH[ AR 700 | 1400 40.0
H28 |#;E i 84 H28.11.14 R OAHA| AR 60.0| 1220] 320
H28 |##:F D[] 85 H28.11.15 —koThl AR 500 [ 1200 31.0
H28 |##;E HiJE[ 86 H28.11.16 R UA| AR 400 [ 1100] 390
H28 |##:F D[] 87 H28.11.17 —RoOH[ AR 500 [ 1200 40.0
H28 |#;E HiJE[ 88 H28.11.17 R OAHA| AR 500 1220] 40.0
H28 |#;E il 89 H28.11.17 R TAHA| AR 400 1100] 350
H28 |#;E HEE[ 90 H28.11.18 —FRoThAl AZR ] 600 1250 36.0
H28 |##;E Hi [ 91 H28.11.19 R TA| AR 50.0 | 1200] 40.0
H28 |##:F D] 92 H28.11.19 —RoTh AR 500 1100 40.0
H28 |#;E il 93 H28.11.20 —FRoohal AZ ] 800 1300 400
H28 |##:F DR 94 H28.11.21 —RoTh AR 700 | 120.0] 37.0
H28 |##:F D] 95 H28.11.21 —RoOH[ AR 750 135.0] 40.0
H28 |##:F D[] 96 H28.11.21 —RoTH[ AR 700 | 120.0] 35.0
H28 |##;E il 97 H28.11.25 R UAHA| AR 400 | 1300] 350
H28 |#;E R 98 H28.12.1 —RUH| AR 700 | FBR| A<HP
H28 |2 | 99 H28.121| =AR>IH| AX | 700 FBH[ FEH
H29 |#f;E DI 1 H29.7.12 —Hwoohl AX | 200 840] 26.0
H29 |##;E DI 2 H29.7.12 —HwoOhl AZX ] 200] 840] 26.0
H29 |##;E DI 3 H29.7.14 —RoOHl AX 55.0 [ 1300 40.0
H29 |##;E DI 4 H29.7.18 —RoOHl AX 60.0 [ 1230 38.0
H29 |##;E DI 5 H29.7.18 —Hwoohl AZX ] 200] 850 26.0
H29 |##;E DI 6 H29.7.18 —kwoOhl AZX ] 500 1200 35.0
H29 |##;E DI 7 H29.7.19 —RoOHl AX 400 [ 1150 400
H29 |#;E DI 8 H29.7.22 —HwoOhl AZX ] 700 1250 400
H29 |##;E DI 9 H29.7.22 —RoOHl AX 60.0 [ 1250 400
H29 |##;E DHEE[ 10 H29.7.22 —RoOHl AX 400 [ 1050 35.0
H29 |#;E DEE[ 11 H29.7.24 —kwoohl AZX ] 500 1100 35.0
H29 |##;E DEE[ 12 H29.7.24 —RoOHl AX 400 | 1200]| 350
H29 |##;E D[ 13 H29.7.26 —RoOHl AX 50.0 [ 1300 33.0
H29 |#;E DHEE] 14 H29.7.28 —RoOH] AX 50.0 [ 1200 35.0
H29 |##;E DHEEE[ 15 H29.7.31 —HwoOhl AZX ] 300] 930 250
H29 |##;E D[ 16 H29.8.17 —kwoohl AZX ] 700 1150 37.0
H29 |#;E DOEE[ 17 H29.8.29 —RoOH] AX 50.0 [ 107.0]| 35.0
H29 |##;E D[ 18 H29.8.30 —HwoOhl AZX ] 500 1170 43.0
H29 |##;E DHEE[ 19 H29.9.1 —RoOHl AX 60.0 [ 1420 43.0
H29 |#;E DHEE[ 20 H29.9.3 —RoOH] AX 30.0[ 1000 38.0
H29 |##;E D[ 21 H29.9.11 —RoOHl AX 50.0 [ 1200 36.0
H29 |#;E DEE[ 22 H29.9.12 —RoOH] AX 60.0 [ 1200 37.0
H29 |#;E D[ 23 H29.9.12 —HwoOhl AZX ] 600 1220 400
H29 |#;E DHEE] 24 H29.9.13 —Hwoohl AZX ] 1000] 1370 41.0
H29 |##;E D[ 25 H29.9.20 —woOhl AZX ] 500 1160 38.0
H29 |#;E D[ 26 H29.9.20 =R H] AX 300 900]| 330
H29 |#;E DOEE[ 27 H29.9.21 =P EE 400 800]| 300
H29 |#;E D[ 28 H29.9.21 —kwoOHl AZX ] 300 1000]| 37.0
H29 |#;E DHEE[ 29 H29.9.21 =R H] AX 80.0 [ 1200 400
H29 |#;E HEE[ 30 H29.9.22 —kwoOHl AZX ] 600] 1100 400
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H29 |##:F HEIE| 31 H29.9.22 = Thl AZX | 1000] 117.0] 400
H29 [##:F HEHE| 32 H29.9.22 —RUH| AR 300] 900] 350
H29 [##:F HEIE| 33 H29.9.24 —RTH| AR 60.0 | 1300] 35.0
H29 |43 DR 34 H29.9.26 —oThl AZX | 600[ 1200] 39.0
H29 |43 D[] 35 H29.9.28 —RoOH[ AR 700 | 145.0] 30.0
H29 |43 HEIE| 36 H29.9.28 = Thl AZX | 800[ 1350] 400
H29 |43 HEE| 37 H29.9.29 = Thl AZX | 1000 [ 130.0] 400
H29 [##:F HEIE| 38 H29.10.1 —RTH| AR 60.0 | 1200] 39.0
H29 [##:F HEHE| 39 H29.10.5 =R Hl AR 300] 880] 310
H29 |43 HEIE| 40 H29.10.5 —RTH| AR 60.0 | 1300] 36.0
H29 |43 DR 41 H29.10.8 —RoOH[ AR 400 [ 1050 37.0
H29 |43 DR 42 H29.10.8 —RTH| AR 500 133.0] 43.0
H29 |43 DHEIE| 43 H29.10.8 =T hl AX | 800[ 1500 ] 46.0
H29 [##:F DR 44 H29.10.9 —RUH| AR 300] 920] 300
H29 [##:F D[] 45 H29.10.9 —RoTh AR 500 [ 1150 37.0
H29 |43 D] 46 H29.10.10 —RoOH[ AR 700 | 1250 35.0
H29 |43 DR 47 H29.10.15 —RTH| AR 400 ] 1150] 40.0
H29 |43 DEIE| 48 H29.10.20 —RTH| AR 300] 1050] 38.0
H29 |43 DHEE| 49 H29.10.21 = Thl AX | 1200] 165.0] 500
H29 [##:F HEIE| 50 H29.10.23 —RTH| AR 400 | 1040] 28.0
H29 |43 HEIE| 51 H29.10.24 = Thl AX | 500[ 1280] 35.0
H29 |43 DHEIE| 52 H29.10.26 —RTH| AR 400 | 1040] 350
H29 [##:F D[] 53 H29.10.27 —RoTh AR 700 | 1250 45.0
H29 |43 DHEE| 54 H29.10.27 = Thl AZX | 500[ 1100] 43.0
H29 |43 HEIE| 55 H29.10.27 —RTH| AR 60.0 | 1200] 40.0
H29 [##:F D[ 56 H29.10.28 —RoOH[ AR 700 | 135.0] 35.0
H29 |43 D[ 57 H29.10.28 —RoOH[ AR 400 [ 1150 35.0
H29 |43 HEIE| 58 H29.10.28 —RTH| AR 80.0 | 130.0] 40.0
H29 [##:F HEIE| 59 H29.10.28 —RTH| AR 70.0 | 130.0] 40.0
H29 |43 HEIE| 60 H29.10.28 —hwoThl AX | 700[ 1350] 45.0
H29 |43 DHEIE| 61 H29.10.29 —RTH| AR 50.0 | 130.0] 40.0
H29 [##:F D] 62 H29.10.29 —RoOH[ AR 400 [ 1250] 35.0
H29 [##:F HEIE| 63 H29.10.30 —RTH| AR 400 | 1040] 350
H29 |43 DHEE| 64 H29.10.31 —RTH| AR 600 1130] 39.0
H29 [##:F D[] 65 H29.10.31 —RoTh AR 550 [ 1150 40.0
H29 [##:F D[] 66 H29.10.31 —RoTh AR 900 [ 1580 44.0
H29 |43 D] 67 H29.10.31 —koTohl AR 700 | 129.0] 41.0
H29 [##:F HEIE| 68 H29.11.1 —RTH| AR 60.0| 139.0] 420
H29 [##:F DHEIE| 69 H29.11.1 =R Hl AR 400 ] 1170] 41.0
H29 |43 HEHE| 70 H29.11.1 —woThl AX | 400[ 116.0] 39.0
H29 [##:F HER| 71 H29.11.1 —RoOH[ AR 450 [ 1140] 39.0
H29 [##:F DR 72 H29.11.2 —RoOH[ AR 700 | 135.0] 35.0
H29 [##:F D] 73 H29.11.2 —RoOH[ AR 600 [ 1350 35.0
H29 [##:F HEHE| 74 H29.11.3 —RTH| AR 60.0 | 1340] 420
H29 [##:F D] 75 H29.11.3 —RoOH[ AR 80.0 [ 1350 42.0
H29 [##:F D] 76 H29.11.3 —RoTh AR 80.0 [ 1270 36.0
H29 [##:F DR 77 H29.11.4 —RoTh AR 60.0 [ 1200 50.0
H29 [##:F D] 78 H29.11.4 —RoOH[ AR 500 [ 1350 42.0
H29 [##:F HEHE| 79 H29.11.5 —RTH| AR 60.0| 1180] 39.0
H29 [##:F DI 80 H29.11.6 —RoOH[ AR 700 | 1400 37.0
H29 [##:F HEIE| 81 H29.11.7 —RTH| AR 60.0 | 1430] 33.0
H29 [##:F D[] 82 H29.11.11 —RoTh AR 400 [ 111.0] 35.0
H29 [##:F D[] 83 H29.11.11 —RoTh AR 80.0 [ 1500 42.0
H29 [##:F D] 84 H29.11.11 —RoOH[ AR 60.0 [ 1350 400
H29 [##:F D[] 85 H29.11.11 —RoOH[ AR 500 [ 1250 40.0
H29 [##:F HEIE| 86 H29.11.11 = Thl AX | 450[ 113.0] 400
H29 [##:F D] 87 H29.11.11 —RoOH[ AR 60.0 [ 133.0] 43.0
H29 |##:F HEIE| 88 H29.11.13 —RTH| AR 60.0 | 1230] 40.0
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H29 |##:F D] 89 H29.11.14 —RoTH[ AR 500 [ 1230 38.0
H29 |#;E HEE[ 90 H29.11.21 R TA| AR 80.0[ 1200 320
H29 [##:F D[] 91 H29.11.26 —RoOH[ AR 700 | 1200 45.0
H29 |43 DR 92 H29.11.27 —RoOH[ AR 500 [ 1150 35.0
H29 |##;E il 93 H29.11.29 R OAH| AR 50.0 [ 1300 36.0
H29 [##;E S| 94 H29.12.2 —RoTH| AR B FeA| A BH
H29 [##;E S 95 H29.12.9 —RoTH| AR B FeA| A BH
H29 [##;E [ 96 H29.12.9 —RoTH| AR B FeA| A BH
H29 [##;E S| 97 H29.12.9 —RoTH| AR B FeA| A BH
H29 |fd;E S| 98 H29.12.9 —RoTH| AR 8| FeA| A BH
H30 |#;E DI 1 H30.8.22 —ROH] AX 60.0 [ 1270 43.0
H30 |##;E DI 2 H30.8.23 —RoOH] AX 700 | 130.0] 43.0
H30 |##;E DI 3 H30.8.30 —RoOH] AX 200 960 300
H30 |##;E DI 4 H30.9.3 —HwoOhl AZX ] 600 1200 44.0
H30 |##;E DI 5 H30.9.5 —HwoOhl AZX ] 650 1230 450
H30 |##;E DI 6 H30.9.9 —RoOHl AX 300 103.0]| 350
H30 |##;E DI 7 H30.9.12 —HwoOhl AZX ] 700 1300 450
H30 |##;E DI 8 H30.9.13 —Hwoohl AZX ] 300 910 36.0
H30 |##;E DI 9 H30.9.17 —RoOH] AX 60.0 [ 1100 400
H30 |##;E DHEE[ 10 H30.9.20 —kwoohl AZX ] 700 1100 400
H30 |##;E DEE[ 11 H30.9.21 =P R 500 | 1100 450
H30 |##;E DEE[ 12 H30.9.22 —RoOHl AX 500 | 1100 35.0
H30 |##;E D[ 13 H30.9.24 —woOhl AZX ] 750 1350 450
H30 |##;E DHEE] 14 H30.9.24 —RoOH] AX 60.0 [ 1340 43.0
H30 |##;E DHEEE[ 15 H30.9.25 —kwoohl AZX ] 600 1150 400
H30 |##;E D[ 16 H30.9.30 —koOhl AZX | 450 1050 35.0
H30 |##;E DHEE[ 17 H30.10.9 —HwoOhl AZX ] 700 1300 450
H30 |##;E D[ 18 H30.10.9 —HwoOhl AZX ] 950 1500 45.0
H30 |##;E DHEE[ 19 H30.10.13 —RoOHl AX 500 1250 41.0
H30 |##;E DHEE[ 20 H30.10.14 —HwoOhl AZX ] 600] 1200 450
H30 |##;E D[ 21 H30.10.15 —RoOHl AX 700 | 1250 ] 450
H30 |##;E DEE[ 22 H30.10.16 —RoOHl AX 400 [ 1080 34.0
H30 |##;E D[ 23 H30.10.16 —RoOH] AX 500 | 113.0]| 400
H30 |##;E DHEE] 24 H30.10.16 —HwoOhl AZX ] 800 1270 450
H30 |##;E D[ 25 H30.10.16 —RoOHl AX 400 [ 109.0]| 39.0
H30 |##;E D[ 26 H30.10.17 —HwoOhl AZX ] 700 1150 43.0
H30 |##;E DEE[ 27 H30.10.17 —RoOHl AX 400 | 103.0]| 38.0
H30 |##;E D[ 28 H30.10.19 —RoOHl AX 60.0 [ 1200 38.0
H30 |##;E DHEE[ 29 H30.10.20 —HwoOHl AZX ] 700 1300 450
H30 |##;E HEE[ 30 H30.10.22 —RoOHl AX 80.0 [ 1350 440
H30 |##;E D[ 31 H30.10.22 —RoOHl AX 700 | 1200 420
H30 |##;E DHEEE[ 32 H30.10.23 —HwoOhl AZX ] 800 131.0] 450
H30 |##;E D[ 33 H30.10.23 —RoOHl AX 700 | 118.0] 40.0
H30 |##;E DHEE| 34 H30.10.24 —woOhl AZX ] 500 1150 39.0
H30 |##;E D[ 35 H30.10.26 —HwoOhl AZX ] 900 1280 47.0
H30 |##;E D[ 36 H30.10.28 —HwoOhl AZX ] 900 1470 47.0
H30 |##;E D[ 37 H30.10.29 —woOhl AZX | 1000] 1500 46.0
H30 |##;E HiE[ 38 H30.10.31 —RoOH] AX 700 | 130.0] 420
H30 |##;E D[ 39 H30.10.31 —RoOHl AX 30.0[ 1000 39.0
H30 |##;E DHEE[ 40 H30.10.31 —woOhl AZX ] 650 1350 420
H30 |##;E DEE[ 41 H30.11.3 —RoOH] AX 80.0 [ 1100 440
H30 |##;E DEE[ 42 H30.11.4 —RoOH] AX 700 | 130.0] 38.0
H30 |##;E D[ 43 H30.11.4 —RoDHAl AR 60.0 [ 1100 400
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02 MR XIFEEKR—ER (H27~R4ESR)

FE[EEE o | Bk B8] mEe | BB& |5 | AE |ERR|#RS
H30 |##;F hiE| 44 H30.11.4 = Thl AZX | 400[ 1000] 300
H30 |##;E i 45 H30.11.4 —RTH| AR 60.0 | 1200] 40.0
H30 [#4:F DI 46 H30.11.9 —RoOH[ AR 700 110.0] 45.0
H30 [##:F DR 47 H30.11.9 —RoTh AR 700 | 1200 45.0
H30 |43 DI 48 H30.11.9 —RoTh AR 700 110.0] 40.0
H30 |43 D] 49 H30.11.10 —RoToh| AR 400| 750 36.0
H30 |##;E HiE[ 50 H30.11.12 —hwoThl AX | 600[ 133.0] 43.0
H30 [#4:F D[ 51 H30.11.12 —RoOH[ AR 80.0 [ 137.0]| 43.0
H30 [#4:F D[] 52 H30.11.13 —RoTohl AR 700 121.0] 41.0
H30 |##;E Hi [ 53 H30.11.13 —RTH| AR 80.0 | 1430] 420
H30 |43 D] 54 H30.11.15 —RoOH[ AR 600 [ 1250 35.0
H30 |43 D[ 55 H30.11.16 —RoOH[ AR 700 | 128.0] 440
H30 |43 D[ 56 H30.11.16 —RoTh AR 80.0 [ 1380 47.0
H30 [#4:F D[ 57 H30.11.16 —RoTh AR 400 [ 1050 39.0
H30 |##;E HiJE[ 58 H30.11.17 —RTH| AR 500 | 1240] 420
H30 |##;E HE [ 59 H30.11.18 = Thl AZX | 500[ 1000] 36.0
H30 |##;E HiE[ 60 H30.11.18 —RTH| AR 60.0 | 1100] 40.0
H30 |##;E Hi [ 61 H30.11.18 —RTH| AR 70.0 | 1400] 40.0
H30 |43 DR[| 62 H30.11.18 —RoTH[ AR 700 | 130.0] 40.0
H30 [#4:F M| 63 H30.11.19 —RoOH[ AR 500 1100 35.0
H30 |43 D] 64 H30.11.19 —RoOH[ AR 700 | 1400 45.0
H30 |##;E i [ 65 H30.11.20 = Th]l AX | 1000[ 140.0] 46.0
H30 [#4:F D[] 66 H30.11.20 —RoTh AR 60.0 [ 1200]| 35.0
H30 |43 D] 67 H30.11.21 —RoTh AR 400 [ 103.0]| 400
H30 |43 D[] 68 H30.11.22 —RoTh AR 500 [ 1200 40.0
H30 [#4:F D[] 69 H30.11.23 —RoToh| AX 400] 970 340
H30 |##;E HhiE[ 70 H30.11.24 —RTH| AR 70.0 | 1420] 430
H30 |##;E gl 71 H30.11.24 =T hl AX | 400[ 117.0] 39.0
H30 |##;E hiEE[ 72 H30.11.25 —RTH| AR 500 1250] 40.0
H30 |##;E il 73 H30.11.25 —RTH| AR 60.0 | 1250] 45.0
H30 |43 DR 74 H30.11.26 —RoTH[ AR 450 1150 35.0
H30 |##;E il 75 H30.11.26 —RTH| AR 60.0 | 130.0] 40.0
H30 |##;E il 76 H30.11.26 —RTH| AR 80.0 | 1400]| 450
H30 |##;E hiaEl 77 H30.11.26 —RTH| AR 70.0 | 140.0] 40.0
H30 |##;E il 78 H30.11.28 —RTH| AR 400 | 1300] 40.0
H30 |##;E gl 79 H30.11.28 =R Th| AR 400 ] 1120] 41.0
H30 |##;E HiE[ 80 H30.11.28 = Thl AX | 400[ 1220] 38.0
H30 |##;E HigE[ 81 H30.11.30 —RTH| AR 400 | 1100] 38.0
H30 [#4:F R 82 H30.11.27 = Th]l AX | 1000] 140.0] 46.0
H30 |43 $h| 83 H30.11.27 —RTH| AR 60.0| 1350] 43.0
H30 [#4:F $hiE| 84 H30.11.27 —RTH| AR 500 | 1260] 420
H30 |43 $hHE| 85 H30.11.27 —RTAH| AR 500 1100] 40.0
H30 [#4:F $hE| 86 H30.11.27 —woThl AZX | 600[ 131.0] 47.0
H30 [#4:F $hE| 87 H30.11.27 —RTH| AR 70.0 | 130.0] 40.0
H30 |##;E HiJE|[ 88 H30.12.1 —RTH| AR 60.0| 1350] 420
H30 |##;E il 89 H30.12.2 —RTH| AR 50.0 | 1200] 40.0
H30 |##;E HEE[ 90 H30.12.5 —RTH| AR 400 | 1070] 350
H30 |##;E Hi [ 91 H30.12.8 —RTH| AR 500 1100] 40.0
H30 |##;E il 92 H30.12.10 —RTH| AR 80.0 | 1470] 430
H30 |##;E il 93 H30.12.10 —RTH| AR 400 ] 1090] 39.0
H30 |##;E gl 94 H30.12.11 =R Th| AR 60.0| 1300] 61.0
H30 [#4:F D[] 95 H30.12.12 —RoOH[ AR 60.0 [ 1350 400
H30 |##;E il 96 H30.12.13 —RTH| AR 400 | 1000] 38.0
H30 |43 D] 97 H30.12.18 —RoDh AR 500 [ 1080 41.0
H30 |43 D[] 98 H30.12.18 —RoTh AR 600 [ 420] 115.0
H30 |43 D] 99 H30.12.19 —RoTh AR 700 | 1400] 41.0
H30 |##;E HEE[ 100 H30.12.19 —RTH| AR 60.0 | 1370 440
H30 |f#:F Rl 101 H30.3.10 —RTH| AR 70.0 | 139.0] 43.0
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02 MR XIFEEKR—ER (H27~R4ESR)

X%

FE (RHX L) HE |&S| HEAR %R | AE |BERE|EER
R1 |72 HEIH 1 R1.8.26 R Uh| AR 700 | 130.0| 42.0
R1 |f82 HE 2 R1.8.27 R Oh| AX | 500[ 1300 [ 43.0
R1 |f82 HIE 3 R1.8.27 R Oh[ AR [ 550 116.0 | 430
R1 |f82 HIE 4 R1.8.27 R Oh| AR [ 400 [ 107.0[ 440
R1 |f82 HIE 5 R1.8.27 RoUoh| AR [ 300[ 940 350
R1 |f82 HIE 6 R1.8.29 R Oh| AX [ 60.0[ 1350 [ 45.0
R1 |f82 HIE 7 R1.8.30 RoUh| AR [ 200[ 850 340
R1 |f82 HE 8 R1.8.30 RO h| AX [ 400[ 1100 [ 400
R1 |f82 HIE 9 R1.8.31 RO h| AX [ 700[ 1300 [ 36.0
R1 |f82 HEE R1.9.4 R Uoh| AR [ 800 [ 1400 [ 45.0
R1 |f82 HEE R1.9.4 R Uoh| AX [ 600[ 1350 [ 41.0
R1 |f82 HEE R1.9.6 Rk Uh| X [ 1100 [ 160.0 [  49.0
R1 |f82 HEE R1.9.8 R OHh[ AR [ 1200] 136.0 | 470
R1 |f82 HEE R1.9.10 R Oh| AX [ 500 [ 100.0 [ 400
R1 |f82 HEE R1.9.12 RoUh| AR [ 600 [ 131.0[ 43.0
R1 |f82 HEE R1.9.12 R OHh[ AR [ 1200] 165.0 | 48.0
R1 |f82 HIE R1.9.12 R oA AR | 500 1270 420
R1 |f82 HEE R1.9.12 RO h| AX [ 600 [ 131.0[ 400
R1 |f82 HEE R1.9.13 RO h| AX [ 600 [ 1300 [ 47.0
R1 |#hE HIR R1.9.15 RoDh| AR 400 [ 1100 35.0
R1 |f82 HEE R1.9.16 RoUh| AR [ 400[ 980 36.0
R1 |f82 HEE R1.9.17 R Oh| AX [ 30.0[ 1000 [ 36.0
R1 |f82 HEE R1.9.18 R OH[ AX [ 1000 140.0 | 400
R1 |f82 HIE R1.9.18 R oAl AR | 200[ 900] 35.0
R1 |f82 HEE R1.9.19 R UHhH[ AR [ 500] 1180 33.0
R1 |f82 HEE R1.9.19 R Oh| AX [ 300[ 1080[ 36.0
R1 |f82 HEE R1.9.19 R OHh[ AR [ 1200] 1500 | 47.0
R1 |f82 HEE R1.9.20 R Oh| AX [ 700 [ 1400 [ 46.0
R1 |f82 HEE R1.9.22 R Oh| AX [ 700 [ 1400 [ 43.0
R1 |f82 HEE R1.9.22 R OH[ AR [ 500] 1100 | 400
R1 |f82 HIE R1.9.25 R oAl AR | 150 700 19.0
R1 |f82 HEE R1.9.26 R OHh[ AR [ 1300] 1500 | 45.0
R1 |f82 HEE R1.9.29 RoUh| AR [ 800 [ 1250 45.0
R1 |f82 D R1.9.30 R Oh| AX [ 500[ 1220 400
R1 |f82 HEE R1.10.2 RUh| AR [ 700[ 1300 [ 45.0
R1 |f82 HEE R1.10.3 R UhH[ AR [ 300] 950 36.0
R1 |f82 D R1.10.3 R Oh| AX [ 500[ 1200 [ 420
R1 |f82 HEE R1.10.6 R Oh| AX [ 700 [ 1500 [ 42.0
R1 |f82 HEE R1.10.6 RoUh| AR [ 700[ 1200 [ 400
R1 |f82 D R1.10.9 RoUoh| AR [ 700[ 1300 [ 46.0
R1 |f82 HIE R1.10.14 R oAl AR | 300[ 950 38.0
R1 |f82 HIE R1.10.14 R oA AX | 700 1350 45.0
R1 |f82 HIE R1.10.19 R oA AR | 700 1360 45.0
R1 |f82 O R1.10.19 R Uh| AR [ 800 [ 1340 450
R1 |f82 O R1.10.20 RoUh| AR [ 700[ 1350 [ 45.0
R1 |f82 HEE R1.10.22 RoUh| AR [ 600 [ 1200 43.0
R1 |f82 O R1.10.24 RoUh| AR [ 400[ 1230 420
R1 |f82 O R1.10.24 RoUh| AX [ 700[ 1320 43.0
R1 |f82 HEE R1.10.26 RoUh| AR [ 600[ 1350 [ 45.0
R1 |f82 O R1.10.28 R Oh| AX | 600 [ 1300 [ 43.0
R1 |f82 HEE R1.10.28 RO h| AX | 400 1150 38.0
R1 |f82 HEE R1.10.28 R Oh| AX [ 500[ 1000 [ 36.0
R1 |f82 O R1.10.29 R OHh[ AR [ 500] 118.0 | 430
R1 |f82 HEE R1.10.29 RoUh| AR [ 600[ 1350 [ 45.0
SYECEES HEE R1.10.29 R OHh[ AR [ 300] 1100 | 380
SYECEES HEE R1.10.29 RoUh| AR [ 800 [ 1420 45.0
SYECEES HEE R1.10.30 RoOh| AX [ 700[ 1200 [ 420
SYECEES HEE R1.10.30 RO h| AX [ 400 105.0[ 37.0
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02 MR XIFEEKR—ER (H27~R4ESR)

FE[ied o | s (B3| mEe Bz | 1R | hE |ERE|#ES
R1 |72 D[ 59 R1.10.31 —ikUH| AR | 500[ 113.0] 340
R1 |f82 D 60 R1.10.31 RO h| AX | 500[ 1200 36.0
R1 |f82 D 61 R1.10.31 RO h| AX | 500[ 1220 340
R1 |#hE DHEE| 62 R1.11.1 —_oohl AR [ 450 1050 37.0
R1 |f82 DI 63 R1.11.2 —RooH| AR | 700 1340 43.0
R1 |f82 | 64 R1.11.3 RO h| AX | 400 1100 [ 400
R1 |#hE D[ 65 R1.11.3 kT HA| A X | 5000 [ 120.0 [ 40.0
R1 |f82 DI 66 R1.11.4 RO h| AX | 600[ 1250 420
R1 |#hE D] 67 R1.11.4 —RUH| AR | 1000 [ 1450 48.0
R1 |f82 DI 68 R1.11.5 RO h| AX | 400 1100 [ 400
R1 |f82 DI 69 R1.11.5 RO h| AX | 600[ 1350 420
R1 |#hE HEE| 70 R1.11.5 —ikUA| AR | 700 138.0[ 47.0
R1 |#hE DERE[ 71 R1.11.5 —ikUA| AR | 700[ 131.0] 450
R1 |f82 DR 72 R1.11.5 —RooH| AR | 400 1100] 40.0
R1 |f82 yera A IRE R1.11.6 —RoTH| AR 700 | 1300 430
R1 |f82 DHEHE| 74 R1.11.6 RO h| AX | 500[ 1150 [ 40.0
R1 |f82 DR 75 R1.11.7 RO h| AX | 600[ 1350 [ 44.0
R1 |f82 DI 76 R1.11.7 RO h| AX | 600[ 1450 [ 44.0
R1 |f82 DR 77 R1.11.7 RO h| AX | 600[ 1300 [ 46.0
R1 |#hE A RE R1.11.7 —ikUA| AR | 700 1450 46.0
R1 |#hE R[] 79 R1.11.7 —ikUH| AR | 400[ 950[ 37.0
R1 |f82 D 80 R1.11.8 —RooH| AR | 450 1150] 400
R1 |f82 DI 81 R1.11.8 RO h| AX | 500[ 1200 420
R1 |f82 HIE| 82 R1.11.9 RO h| AX | 500[ 1300 [ 41.0
R1 |f82 DI 83 R1.11.9 —RoTH| AR 700 | 1200 430
R1 |f82 | 84 R1.11.9 TR OH| AR 70.0 [ 1210 41.0
R1 |f82 DI 85 R1.11.9 RO h| AX | 500[ 1000 [ 38.0
R1 |f82 DI 86 R1.11.10 —RooH| AR | 60.0[ 1100] 41.0
R1 |f82 DI 87 R1.11.10 —RoTH| AR 700 | 1200 430
R1 |f82 DI 88 R1.11.11 RO hl AX | 600[ 116.0[ 34.0
R1 |f82 DI 89 R1.11.12 RO h| AX | 500[ 1200 [ 40.0
R1 |f82 DR 90 R1.11.13 RO hl AX | 600[ 1200 [ 400
R1 |f82 DI 91 R1.11.13 —RoTH| AR 700 | 1250 440
R1 |#hE DR 92 R1.11.14 —Rooh AR | 1100 1500 47.0
R1 |f82 DI 93 R1.11.14 RO hl AX | 800 1320 440
R1 |f82 DR 94 R1.11.14 RO hl AX | 600[ 1120[ 43.0
R1 |f82 DR 95 R1.11.14 RO h| AX | 600[ 1100 [ 420
R1 |#hE D[ 96 R1.11.15 —ikUAH| AR | 500[ 100.0| 38.0
R1 |f82 DR 97 R1.11.16 RO h| AX | 600[ 1200 37.0
R1 |f82 DI 98 R1.11.16 RO h| AX | 600[ 1250 [ 400
R1 |f82 DR 99 R1.11.16 —RoTH| AR 700 | 1300 400
R1 |f82 DA 100 R1.11.17 RO hl AX | 600[ 1200 43.0
R1 |f82 DI 101 R1.11.17 RO h| AX | 600[ 1300 [ 43.0
R1 |f82 DI 102 R1.11.17 RO h| AX | 500[ 1100 [ 40.0
R1 |f82 DA 103 R1.11.18 —RooH| AR | 400 1080 39.0
R1 |f82 DI 104 R1.11.18 RO h| AX | 600[ 1280 440
R1 |f82 DA 105 R1.11.19 RO h| AX | 600[ 1280 43.0
R1 |#hE HEIE| 106 R1.11.19 —RoOA AR | 1100 1550 47.0
R1 |#hE D[ 107 R1.11.20 R AHA| AR 350 920]| 36.0
R1 |f82 DA 108 R1.11.21 —RooH| AR | 400 1100] 40.0
R1 |#hE HEIE| 109 R1.11.22 —ikUA| AR 200 940 36.0
R1 |f82 DI 110 R1.11.22 RO h| AX | 600[ 107.0[ 440
R1 |#hE DHEIE| 111 R1.11.22 ik UA| AR 400 840 340
R1 |f82 DI 112 R1.11.22 —RoTH| AR 70.0 [ 1140 ] 420
R1 |#hE HEIE| 113 R1.11.22 —ikUH| AR 400 860 37.0
SYECEES HIE| 114 R1.11.23 RO h| AX | 400 1000[ 37.0
SYECEES DI 115 R1.11.25 —RoTH| AR 700 | 1300 46.0
SYECEES DI 116 R1.11.27 RO hl AX | 400 1100[ 36.0
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FE[EEE o | Bk B8] mEe | BB& |5 | AE |ERR|#RS
R1_[## DR 117 R1.11.29 ZRoTohl AR 400 | 1000]| 38.0
R1_[#E HEIE| 118 R1.11.29 —koThl AR 500 1200 42.0
R1_[#E HEIE| 119 R1.12.2 —RoTohl AR 65.0 | 1360 435
R1_[#Z HEIE| 120 R1.12.3 —RoTohl AR 600 [ 1230 41.0
R1_[#Z HEIE| 121 R1.12.6 —RoTohl AR 700 | 138.0] 45.0
R1_[#Z DR 122 R1.12.6 —RoTohl AR 400 [ 1150 38.0
R1_[## HEIE| 123 R1.12.6 —RoTh AR 60.0 [ 1200 40.0
R1_[#E D 124 R1.12.7 —koThl AR 500 [ 1140]| 400
R1_[#E HEIE| 125 R1.12.7 —RoTohl AR 65.0 [ 1200 42.0
R1_[#Z HEIE| 126 R1.12.8 —RoTohl AR 60.0 [ 1500 43.0
R1_[#Z DR 127 R1.12.9 —RoTh AR 600 [ 1250 420
R1 |82 HiegE| 128 R1.12.11 =R Th| AR 400 ] 1150] 39.0
R1 |82 HiegE| 129 R1.12.12 =R Th| AR 500 1300] 35.0
R1_[#E HEIE| 130 R1.12.13 —koThl AR 50.0 [ 1000 38.0
R1 |82 HiegE| 131 R1.12.14 —woThl AZX | 600[ 130.0] 450
R1 |2 HiegE| 132 R1.12.14 =R Th| AR 500 1350] 39.0
R1_[#Z HEIE| 133 R1.12.14 —RoTohl AR 700 | 138.0] 420
R1_[#Z HEIE| 134 R1.12.18 —RoTh AR 500 [ 1050 38.0
R1_[## HEIE| 135 R1.12.18 —koTohl AR 600 [ 1350 43.0
R1_[#E HEIE| 136 R1.12.20 —koThl AR 600 [ 1270 400
R1_[#Z HEIE| 137 R1.12.21 —RoTohl AR 500 1100 40.0
R1_[## HEIE| 138 R1.12.21 —koTohl AR 500 [ 1100 35.0
R1_[#E HEIE| 139 R1.12.22 —koThl AR 500 1100 37.0
RI_|#E | 140 R2.2.22 —RTH| AR 60.0 | 133.0] 40.0
Ri_|#E | 141 R2.2.22 —RTH| AR 60.0| 1350] 43.0
Ri_|#E S| 142 R2.2.22 —RTH| AR 60.0| 1270] 46.0
RI_|#E | 143 R2.2.22 —RTH| AR 400 | 106.0] 40.0
Ri_|#E S 144 R2.3.7 R OAHA| AR 700 [ 1350 420
Ri_|#E $HIE[ 145 R2.3.7 R UAHA| AR 50.0 [ 100.0] 40.0
RI_|#E | 146 R2.3.7 —RTH| AR 60.0| 1250] 420
Ri_|#E S| 147 R2.3.7 —RTH| AR 60.0 | 1200] 420
Ri_|#E | 148 R2.3.7 —RTH| AR 50.0 | 103.0] 40.0
Ri_|#E | 149 R3.3.15 —RTH| AR 60.0 | 1200] 46.0
Ri_|#E $HI[ 150 R3.3.15 R OAHA| AR 400 [ 1070] 390
RI_|#E | 151 R3.3.15 —RTH| AR 60.0| 1250] 420
R1 |#hE Hm| 152 R3.3.15 —RooHh| AR | 600[ AEH| ABH
R2 [f#;E DI 1 R2.8.26 —HwoohAl AX ] 600[ 1200] 39.0
R2 |42 DI 2 R2.8.27 —HwohHl AZX ] 250 900] 340
R2 |42 DI 3 R2.8.30 —HRoThH] AX 500 1230] 430
R2 |42 DI 4 R2.8.30 —+wohHl AX | 800 1450] 470
R2 |42 DI 5 R2.9.2 —+wohHl AX | 600] 1150 43.0
R2 |42 DI 6 R2.9.2 —+wohHl AX | 300 950] 35.0
R2 |42 DI 7 R2.9.3 —woThHl AX | 600[ 1240] 420
R2 |42 DI 8 R2.9.4 —HRoThH] AR 600 1220] 420
R2 |42 DI 9 R2.9.4 —HRoThH] AX 100 [ 1000| 36.0
R2 |42 HisgEl 10 R2.9.6 —+wohHl AX | 700[ 1300] 450
R2 |42 HiegE 11 R2.9.7 —+wohHl AX | 500[ 1140] 430
R2 |42 HisgE| 12 R2.9.12 —+wohHl AX | 600] 1150 43.0
R2 |42 HisgE| 13 R2.9.13 —HRoThH] AR 700 | 1200 40.0
R2 |42 i 14 R2.9.14 —wohHl AX | 500[ 1200] 440
R2 |42 HisgE| 15 R2.9.14 —HRoThH] AX 300] 1000] 370
R2 |42 HisgE| 16 R2.9.15 —HRoThH] AR 60.0 | 1200] 440
R2 |42 HisgE| 17 R2.9.16 —+wohHl AX | 400] 930] 380
R2 |42 2y EE R2.9.16 —HwoThHl AX | 600] 1220] 440
R2 |42 HiegEl 19 R2.9.17 —+woThHl AZX | 600[ 1300] 440
R2 |42 HisgE| 20 R2.9.20 —+wohHl AX | 500[ 1000] 37.0
R2 |42 HipgE| 21 R2.9.23 —HRoTH] AX 700 | 1470 440
R2 |42 HisgE| 22 R2.9.26 —HwohHl AZX ] 400] 980] 290
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FE[EEE o | Bk B8] mEe | BB& |5 | AE |ERR|#RS
R2 |f#;E il 23 R2.9.28 =T hl AZX | 400[ 1100] 39.0
R2 |f#;E hiE| 24 R2.9.28 =R Th| AR 60.0| 1250] 41.0
R2 |f#;E il 25 R2.9.29 —RTH| AR 400 | 1000] 36.0
R2 |f#;E il 26 R2.9.30 —RTH| AR 400 ] 1100] 420
R2 |f#;E DR 27 R2.10.2 —RoOH[ AR 400 [ 1050 36.0
R2 |f#;E D] 28 R2.10.4 —RoOH[ AR 400 [ 107.0]| 35.0
R2 |f#;E il 29 R2.10.5 —woThl AZX | 600[ 111.0] 43.0
R2 |f#;E HEE[ 30 R2.10.6 —RTH| AR 60.0| 1250] 43.0
R2 |f#;E HEIE| 31 R2.10.7 =+ Thl AZX | 600[ 107.0] 400
R2 |f#;E DR 32 R2.10.8 —RoOH[ AR 500 1150 42.0
R2 |f#;E D[] 33 R2.10.8 —H=oohl AZX | 1200 137.0] 46.0
R2 |f#;E i 34 R2.10.8 = Thl AZX | 600[ 1200] 43.0
R2 |f#;E D[] 35 R2.10.9 —RoTh AR 600 [ 1270 450
R2 |f#;E i [ 36 R2.10.9 = Thl AX | 300[ 1100] 38.0
R2 |f#;E DR[| 37 R2.10.11 —RoOH[ AR 60.0 [ 1200 40.0
R2 |f#;E D[] 38 R2.10.11 —RoToH| AR 300 850 300
R2 |f#;E D] 39 R2.10.13 —RoTh AR 700 1150] 41.0
R2 |f#;E D] 40 R2.10.14 —RoOH[ AR 700 | 130.0] 40.0
R2 |f#;E DHEIE| 41 R2.10.15 =T hl AX | 700[ 1280] 450
R2 |f#;E DR 42 R2.10.16 —RoOH[ AR 500 [ 1150 43.0
R2 |f#;E D[] 43 R2.10.16 —+=oohl A& | 1500 1700 52.0
R2 |f#;E DR 44 R2.10.18 —RoTH[ AR 600 [ 1150 400
R2 |f#;E D[] 45 R2.10.18 —RoOH[ AR 700 | 1200 40.0
R2 |f#;E DI 46 R2.10.19 —RoOH[ AR 300[ 1000]| 35.0
R2 |f#;E DR 47 R2.10.20 —RoTh AR 400 [ 1000]| 36.0
R2 |f#;E DI 48 R2.10.23 —RoTh AR 400 [ 1040]| 38.0
R2 |f#;E il 49 R2.10.25 —oThl AX | 800[ 1240] 440
R2 |f#;E HiE[ 50 R2.10.25 = Thl AX | 800[ 128.0] 44.0
R2 |f#;E D[ 51 R2.10.26 —=oohl A& | 1000] 1400]| 43.0
R2 |f#;E i 52 R2.10.27 —RTH| AR 50.0 | 1200] 40.0
R2 |f#;E Hi [ 53 R2.10.28 =+ Thl AX | 600[ 1100] 43.0
R2 |f#;E i 54 R2.10.28 —RTH| AR 70.0 | 133.0] 440
R2 |f#;E Hi [ 55 R2.10.30 —RTH| AR 80.0| 1300] 420
R2 |f#;E HiJE[ 56 R2.10.30 —RTH| AR 300] 1050] 38.0
R2 |f#;E D[ 57 R2.10.31 —=oohl AZX | 1200 1550 46.0
R2 |f#;E D[ 58 R2.10.31 —RoThl AR 700 | 130.0] 41.0
R2 |f#;E il 59 R2.10.31 —woThl AX | 400[ 116.0] 39.0
R2 |f#;E HiE[ 60 R2.11.1 —RTH| AR 60.0 | 1460] 420
R2 |f#;E HEIE| 61 R2.11.3 =R Hl AR 600 121.0] 430
R2 |f#;E il 62 R2.11.3 = Thl AX | 300[ 1020] 36.0
R2 |f#;E i [ 63 R2.11.4 —RTH| AR 900 | 136.0] 420
R2 |f#;E i 64 R2.11.5 —RTAH| AR 70.0 | 1300] 420
R2 |f#;E HEIE| 65 R2.11.5 = Thl AZX | 400[ 1150] 39.0
R2 |f#;E HiJE|[ 66 R2.11.7 =R Th| AR 500 1000] 41.0
R2 |f#;E D] 67 R2.11.10 —RoOH[ AR 700 | 1450] 43.0
R2 |f#;E HEIE| 68 R2.11.11 = Thl AZX | 600[ 136.0] 46.0
R2 |f#;E D[] 69 R2.11.11 —RoOH[ AR 700 | 152.0] 43.0
R2 |2 hisgE| 70 R2.11.11 = Thl AZX | 600[ 123.0] 44.0
R2 |2 bHiE 71 R2.11.12 = Thl AX | 400[ 100.0] 400
R2 |f#;E hiEE[ 72 R2.11.13 —RTH| AR 60.0| 1370 43.0
R2 |2 i 73 R2.11.13 = Th]l AX | 1000] 148.0] 43.0
R2 |f#;E DR 74 R2.11.13 —RoTh AR 700 | 127.0] 440
R2 |f#;E D] 75 R2.11.15 —RoOH[ AR 700 | 1250 40.0
R2 |f#;E D] 76 R2.11.16 —RoDh AR 300[ 1050 38.0
R2 |f#;E DR 77 R2.11.16 —RoOH[ AR 600 [ 1250 43.0
R2 |f#;E D] 78 R2.11.17 —RoTh AR 60.0 [ 1300 47.0
R2 |2 il 79 R2.11.19 = Thl AX | 400[ 107.0] 38.0
R2 |f#;E D] 80 R2.11.19 —RoTh AR 500 [ 1260 42.0
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R2 |82 Hisg| 81 R2.11.19 —hwoThl AZX | 600[ 131.0] 450
R2 |f#;E D[] 82 R2.11.19 —=oohl AZX | 1000] 1400 47.0
R2 |f#;E D[] 83 R2.11.21 —RoOH[ AR 400 [ 1150 400
R2 |f#;E D] 84 R2.11.22 —RoTh AR 700 | 1450] 51.0
R2 |f#;E D[] 85 R2.11.22 —RoTohl AR 600 [ 1200 41.0
R2 |f#;E D[] 86 R2.11.23 —RoOH[ AR 500 [ 1200 40.0
R2 |f#;E D] 87 R2.11.24 —RoTH[ AR 700 | 130.0] 45.0
R2 |f#;E DI 88 R2.11.24 —RoOH[ AR 700 | 130.0] 45.0
R2 |f#;E HEIE| 89 R2.11.27 —RTH| AR 70.0 | 130.0] 44.0
R2 |f#;E D] 90 R2.11.29 —RoOH[ AR 500 1450 42.0
R2 |f#;E HEIE| 91 R2.11.30 —RTH| AR 400 | 1000] 38.0
R2 |f#;E D] 92 R2.11.30 —RoOH[ AR 80.0 [ 1500 45.0
R2 |f#;E D[] 93 R2.11.30 —RoTH[ AR 700 | 1440] 46.0
R2 |f#;E hiE[ 94 R2.11.30 —RTH| AR 400 | 1000] 39.0
R2 |f#;E DR 95 R2.12.5 —RTH| AR 500 1100] 38.0
R2 |f#;E HEIE| 96 R2.12.5 —RTH| AR 400 | 105.0] 40.0
R2 |f#;E DR 97 R2.12.5 —RTH| AR 60.0| 1270] 420
R2 |f#;E HEIE| 98 R2.12.5 = Thl AZX | 600[ 1200] 44.0
R2 |f#;E D] 99 R2.12.6 —RoTH[ AR 400 [ 1250] 35.0
R2 |f#;E HEE[ 100 R2.12.6 —RTH| AR 400 | 1450] 43.0
R2 |f#;E HigE[ 101 R2.12.6 —RTH| AR 300] 1280] 33.0
R2 |f#;E Hi [ 102 R2.12.7 —RTH| AR 500 1120] 39.0
R2 |f#;E Hi [ 103 R2.12.7 —woThl AX | 600[ 133.0] 43.0
R2 |f#;E HiE[ 104 R2.12.8 —RUH| AR 400 830] 400
R2 |f#;E HEIE| 105 R2.12.9 —RoTH[ AR 400 [ 1050 36.0
R2 |f#;E HEIE| 106 R2.12.10 —RoOH[ AR 700 | 1350 ] 45.0
R2 |f#;E HEIE| 107 R2.12.11 —RoOH[ AR 500 [ 1300 43.0
R2 |f#;E HigE[ 108 R2.12.11 —RTH| AR 400 ] 1100] 40.0
R2 |f#;E HEE[ 109 R2.12.11 —RTH| AR 500 | 1300] 43.0
R2 |f#;E HEE[ 110 R2.12.12 —RTH| AR 70.0 | 1300] 420
R2 [#h;E HregE 111 R2.12.15 = Thl AX | 400[ 1040] 38.0
R2 |f#;E il 112 R2.12.15 —RTH| AR 400 | 1060] 39.0
R2 |f#;E HEIE| 113 R2.12.17 —RoOH[ AR 400 [ 1050 35.0
R2 |f#;E i 114 R2.12.20 —RTH| AR 60.0 | 1250] 40.0
R2 |f#;E Hi [ 115 R2.12.20 —RTH| AR 400 | 1000] 36.0
R2 |f#;E il 116 R2.12.20 =T hl AX | 700[ 1350] 45.0
R2 |f#;E DIEHE| 117 R2.12.21 —kTH| AR 400 ] 1070] 38.0
R3 [ DI 1 R3.9.12 ZiRODAl AR ] 40 100 35
R3 [t Hi i 2 R3.9.13 —hoThAl AR | 70 123 40
R3 [tz hHiiE 3 R3.9.13 —hoThl AZX | 80 130 45
R3 [t HiiE 4 R3.9.13 —hoThl AR | 60 122 44
R3 [t Hi i 5 R3.9.14 —hoThl AX | 60 115 40
R3 [t HiiE 6 R3.9.15 —RoOHl AX 50 120 43
R3 [t HiiE 7 R3.9.17 —RoOHl AX 80 120 40
R3 [t Hi i 8 R3.9.18 —RoOH] AX 60 127 42
R3 [t HiiE 9 R3.9.18 —koTHhH AR | 40 100 38
R3 [t bhiE| 10 R3.9.19 —RoOHl AX 30 90 32
R3 [t il 11 R3.9.20 —RoOH] AX 30 95 35
R3 [t bhigE 12 R3.9.21 —RoOHl AX 50 128 41
R3 [t bhigE| 13 R3.9.25 —RoOH] AX 50 115 42
R3 [t i 14 R3.9.25 —hoThl AR | 20 105 37
R3 |2 DR 15 R3.9.27 —hoThl AX | 60 121 44
R3 [t bhidE| 16 R3.9.29 —RoOH] AX 50 120 41
R3 [t i 17 R3.9.29 —hoThl AZX | 80 130 47
R3 |72 DR 18 R3.10.1 —hoThl AR | 40 115 40
R3 [t bHhidE| 19 R3.10.1 —RoOH] AX 50 130 40
R3 [t bhiE| 20 R3.10.1 —hoThAl AZX | 90 135 43
R3 [t bhidE| 21 R3.10.3 —woThl AR | 60 120 45
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R3 [#h;z DHERE| 22 R3.10.3 —RoUHA AR ]| 50 110 40
R3 |fd;E DR 23 R3.10.8 —RoDHA| AX | 30 100 35
R3 [tz DHERE| 24 R3.10.9 —coUA AR | 80 137 43
R3 |#hE D] 25 R3.10.11 —HRoUH[ AR ] 60 130 45
R3 |fd;E DI 26 R3.10.12 —RoDA| AX | 60 117 46
R3 [#h;E DR 27 R3.10.13 —ROVA AR ]| 70 135 45
R3 |f2 DI 28 R3.10.14 A4/ AR [ 30 94 25
R3 [tz HEHE| 29 R3.10.14 —coUA| AR | 60 117 44
R3 [tz HEIE| 30 R3.10.16 —coUA AR 70 140 46
R3 [#h;z HEIE| 31 R3.10.16 —coUh| AR | 60 125 43
R3 |fd;E DR 32 R3.10.17 R HA| AX | 50 123 42
R3 |f2 D] 33 R3.10.17 A4/ AR |50 109 27
R3 [tz HEHE| 34 R3.10.18 —coUh AR | 30 90 38
R3 |#hE D[ 35 R3.10.22 —coUA AR 70 120 38
R3 [tz HEIE| 36 R3.10.23 —coUA AR | 40 110 40
R3 [#h;z HEE| 37 R3.10.23 —coUh| AR | 60 120 45
R3 |fd;E DI 38 R3.10.23 R HA| AX | 50 130 40
R3 [#h;E HEE| 39 R3.10.25 —coUh| AR | 60 130 40
R3 [tz HEIE| 40 R3.10.27 —ikoUAh AR | 110 132 45
R3 |fE DHEE| 41 R3.10.30 1479 #ZX | 30 88 37
R3 |fd;E DR 42 R3.10.30 —RoDHA| AX | 60 112 40
R3 [tz DHEIE| 43 R3.10.31 —coUA AR ]| 70 115 45
R3 [tz DR 44 R3.10.31 —coUA AR 70 120 45
R3 |f2 DI 45 R3.11.1 —RoDHA| AX | 60 120 40
R3 |f2 DI 46 R3.11.2 RV A| AX | 40 105 35
R3 |fE DR 47 R3.11.4] Z=RoTHhH[ AR ]| 50 115 42
R3 |f2 DI 48 R3.11.8 —RoTH| AR | 40 100 40
R3 [tz DHEE| 49 R3.11.9 —ikoUH| AR 60 120 40
R3 [tz HEIE| 50 R3.11.10 ROV AHA| AR ]| 60 130 43
R3 |f2 DI 51 R3.11.12 I AR [ 60 102 25
R3 |#hE D[ 52 R3.11.14 —coUh AR | 60 125 43
R3 |#hE D[ 53 R3.11.16 —coUh AR | 50 103 38
R3 |fd;E HIHE| 54 R3.11.17 RO HA| AX | 50 109 42
R3 |fd;E DI 55 R3.11.18 —RoTH| AX |60 141 43
R3 [tz HEIE| 56 R3.11.18 ik UA| AR 50 116 39
R3 [tz DHEIE| 57 R3.11.18 RV HA| AR ]| 60 125 43
R3 |fd;E DI 58 R3.11.18 —RoDAHA| AX | 70 125 43
R3 [tz HEIE| 59 R3.11.20 —RoUHA AR ]| 50 105 42
R3 |fd;E D 60 R3.11.20 R A| AX | 40 100 33
R3 |fd;E DI 61 R3.11.20 —RoDHA| AX | 60 115 48
R3 |fd;E DR 62 R3.11.21 —RoDHA| AX | 30 100 20
R3 |fE DI 63 R3.11.21 A4/ AX |60 120 35
R3 |fd;E HIHE| 64 R3.11.22 R HA| AX | 50 126 40
R3 |fd;E DI 65 R3.11.22 DA AX | 80 150 43
R3 [tz HEIE| 66 R3.11.22 —RoUHA| AR ]| 80 155 45
R3 |fd;E DR 67 R3.11.23 RV A| AX | 40 112 39
R3 |fd;E DI 68 R3.11.24 —RDA| AX | 40 120 40
R3 |fd;E DI 69 R3.11.25 R HA| AX | 50 110 39
R3 |fd;E DR 70 R3.11.25 RO HA| AX | 60 138 34
R3 [tz DR 71 R3.11.26 —RoUHA AR ]| 50 113 44
R3 |fd;E DR 72 R3.11.26 R A| AX | 60 132 45
R3 [tz HEE| 73 R3.11.27 —coUh| AR | 60 112 42
R3 [tz HEHE| 74 R3.11.28 —coUA AR | 40 110 40
R3 |fd;E DI 75 R3.11.29 RV A| AX | 40 136 38
R3 [#hz DHEE| 76 R3.11.30 —ROVA AR]| 70 130 46
R3 [#hz HERE| 77 R3.11.30 —ikUHh| AR 50 111 40
R3 |#d#;F A IRE R3.12.1 —RoDHA| AX | 60 130 37
R3 |fd;E DR 79 R3.12.6 RO HA| AX | 50 118 42
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R3 [#d:E HisgE[ 80 R3.12.7 R TA| AR 70 130 44
R3 |f#;E HEIE| 81 R3.12.9 —RTH| AR 50 109 39
R3 |72 HiE| 82 R3.12.9 kU Hh| AR | 50 110 41
R3 [ff:E Hisg| 83 R3.12.12 ik UHh AR | 40 120 40
R3 |f#;E HEE| 84 R3.12.14 —RTH| AR 50 115 40
R3 |f#;E HEIE| 85 R3.12.14 —HRohHl AR ] 20 98 35
R3 |f#;E HEIE| 86 R3.12.15 —koTHhHl AR | 50 115 38
R3 |2 hisg| 87 R3.12.16 kU Hh AR | 40 115 40
R3 2 Hisg| 88 R3.12.17 kU Hh| AR | 50 130 40
R3 |f#;E HEIE| 89 R3.12.19 —RTH| AR 60 130 50
R3 [tz HEE| 90 R3.12.21 RV A| AR ]| 40 116 40
R3 |f#;E IR 91 R4.3.12 —RTH| AR 60 135 35
R3 |f#;E IR 92 R4.3.12 —RTH| AR 60 138 36
R3 |f#;E IR 93 R4.3.12 —RTH| AR 50 122 31
R3 |f#;E IR 94 R4.3.13 —RTH| AR 60 125 40
R3 |f#;E IR 95 R4.3.13 —RTH| AR 60 128 45
R3 |#F Eai%5 96 R43.13| =R UH| AX | 50 115 38
R3 |f#;E IR 97 R4.3.13 —RTH| AR 50 115 35
R3 |f#;E IR 98 R4.3.13 —RTH| AR 60 130 40
R3 [##)# A [ 99 R4.3.13] =R IH[ AR [ 50 120 35
ECTES DI 1 R4.9.12 —hoThl AR | 30 94 38
R4 |42 DI 2 R4.9.13 —hoThl AZX | 30 100 37
R4 |42 DI 3 R4.9.13 —RoUH| AR | 60 120 40
R4 |42 DI 4 R4.9.14 —hoThl AR | 50 129 42
R4 |42 DI 5 R4.9.17 —o Al AR | 50 104 40
R4 |42 DI 6 R4.9.17 —FkRoohal AR ] 60 125 45
R4 |42 DI 7 R4.9.18 —FkRoohal AR ] 60 120 38
R4 |42 DI 8 R4.9.18 —hoThl AZX | 30 90 30
R4 |42 DI 9 R4.9.24 —FkRoohal AR ] 60 120 45
R4 |42 HisgE] 10 R4.9.24 —FkRoohal AR ] 60 120 45
R4 |42 HiEgE 11 R4.9.26 —HwoTH AR | 100 147 47
R4 |42 HisgE| 12 R4.9.27 —FkRoohal AR ] 60 120 40
R4 |42 HisgE| 13 R4.9.28 —hoThl AZX | 60 133 43
R4 |42 HisgE| 14 R4.9.28 —hoThl AZX | 30 100 37
R4 |42 HisgE| 15 R4.9.28 —FkRoohal AR ] 80 136 45
R4 |42 HisgE| 16 R4.10.2 —FkRoohal AR ] 30 100 35
R4 |42 HisgE| 17 R4.10.2 —hoThl AR | 20 100 30
R4 |f8;E D] 18 R4.10.3 A/ AR 30 97 25
R4 |42 HisgE| 19 R4.10.5 —FkRoohal AR ] 60 130 40
R4 |42 HisgE| 20 R4.10.5 —FkRoohal AR ] 60 130 40
R4 |42 HipgE| 21 R4.10.8 —FkRoohal AR ] 70 123 44
R4 |42 HisgE| 22 R4.10.11 —oThl AR | 50 130 40
R4 |42 HisgE| 23 R4.10.11 —oThl AR | 50 125 35
R4 |42 hisgE| 24 R4.10.12 —FkRoohal AR ] 70 126 42
R4 |42 HisgE| 25 R4.10.14 —FkRoohal AR ] 60 120 40
R4 |42 HisgE| 26 R4.10.14 —hoThl AZX | 30 100 36
R4 |42 HisgE| 27 R4.10.16 —RoThl AR | 40 105 38
R4 |f8;E DI 28 R4.10.16 A/ AR 40 90 23
R4 |42 HisgE| 29 R4.10.18 —RoUH AR | 80 152 47
R4 |42 HisgE| 30 R4.10.18 —HRoThH] AR 70 140 44
R4 |42 HisgE| 31 R4.10.20 —FkRoohal AR ] 70 125 45
R4 |42 HisgE| 32 R4.10.21 —HwoTAhH AR | 100 137 42
R4 |42 HisgE| 33 R4.10.21 —FkRoohal AR ] 80 125 42
R4 [fd:E hHisgE| 34 R4.10.25 —RTh| AR 70 126 46
R4 [fd:E HisgE| 35 R4.10.26 —koTH AR | 40 100 37
R4 [fd:E HisgE| 36 R4.10.27 —oThl AR | 50 107 38
R4 [fd:E HisgE| 37 R4.10.28 —Ro Al AR | 40 95 37
R4 [fd:E HisgE| 38 R4.10.28 —oThl AZX | 60 104 39
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R4 |f#;E HEHE| 39 R4.11.1 —RODH AR | 60 105 33
R4 |f#;E HEIE| 40 R4.11.1 —RUH| AR 40 95 30
R4 |fd;E HidE| 41 R4.11.2 —RoToh AR | 40 120 38
R4 |f#;E DR 42 R4.11.2 —koTAhHl AR | 70 135 45
R4 |f#;E DHEIE| 43 R4.11.5 —RTH| AR 60 120 41
R4 |f#;E DR 44 R4.11.5 —RTH| AR 60 125 43
R4 |f2 DIEFE| 45 R4116| =RoTHhH[ AR ]| 40 118 38
R4 |72 DI 46 R4.11.6 —RoohAl AR | 40 121 40
R4 |fE DR 47 R4116| =RoTHhH[ AR ]| 40 127 43
R4 |f#;E DHEIE| 48 R4.11.7 —RTH| AR 50 120 42
R4 |f#;E DHEE| 49 R4.11.7 —RTH| AR 60 135 44
R4 |f#;E HEIE| 50 R4.11.9 —RTH| AR 50 100 35
R4 |f#;E HEIE| 51 R4.11.10 —RTH| AR 40 100 28
R4 |#:E i 52 R4.11.10 —RooH| AR | 60 112 42
R4 [t D[] 53 R4.11.10 —RoThl AR 70 130 43
R4 |f#;E DHEIE| 54 R4.11.11 I AR 70 115 26
R4 |f#;E HEIE| 55 R4.11.12 —RTH| AR 50 110 35
R4 |#hE DR 56 R4.11.13 ROV HA| AR ]| 60 110 30
R4 |#hE D[ 57 R4.11.13 —coUA AR | 40 100 26
R4 [t HIHH| 58 R4.11.14 —koThl AR 50 110 39
R4 [t D[] 59 R4.11.14 —RoTohl AR 50 110 39
R4 |f#;E HEIE| 60 R4.11.16 —RTH| AR 70 140 45
R4 |f#;E DHEIE| 61 R4.11.18 —coThl AR | 40 110 40
R4 |#hE D[ 62 R4.11.18 —coUh| AR | 60 126 43
R4 |f#;E HEIE| 63 R4.11.18 —RTH| AR 60 126 41
R4 |f#;E DHEE| 64 R4.11.19 —RoOH[ AR 60 115 42
R4 [fd:E HisgE| 65 R4.11.20 —RooH| AR | 40 110 40
R4 |f#;E HEIE| 66 R4.11.21 —RoTH[ AR 70 140 32
R4 |f#;E | 67 R4.11.23 —RUH| AR 30 96 24
R4 |f#;E HEIE| 68 R4.11.24 —RTH| AR 70 145 45
R4 |#:E il 69 R4.11.24 A4/ A& [ 120 140 30
R4 |f#;E HEHE| 70 R4.11.25 =R Hl AR 40 115 40
R4 |f#;E DR 71 R4.11.26 —RTH| AR 70 150 44
R4 [t DR 72 R4.11.26 —koTohl AR 70 130 40
R4 |#:E il 73 R4.11.27 —RooH| AR | 60 140 42
R4 [t DR 74 R4.11.28 —RoThl AR 50 118 40
R4 |f#;E HEHE| 75 R4.11.29 —RTH| AR 60 115 42
R4 |f#;E DHEE| 76 R4.11.29 —RUH| AR 40 94 36
R4 |72 il 77 R4.12.1 kU Hh AR | 40 104 34
R4 |#:E il 78 R4.12.2 —RooH| AX | 80 146 46
R4 |#:E gl 79 R4.12.3 —RooH| AR | 35 100 30
R4 |f#;E HEIE| 80 R4.12.4 —RTAH| AR 70 140 40
R4 |f#;E HEIE| 81 R4.12.4 —RTH| AR 40 120 35
R4 |#:E i 82 R4.12.4 —koTHhl AR | 50 120 40
R4 |f#;E HEIE| 83 R4.12.5 —RTH| AR 60 130 45
R4 |#:E i 84 R4.12.5 —RooH| AR | 40 110 40
R4 |f#;E HEIE| 85 R4.12.7 —RODH AR ]| 40 114 30
R4 |#:E i JE[ 86 R4.12.10 —RooH| AR | 80 140 43
R4 |f#;E iR 87 R4.12.11 —RoOH[ AR 70 140 40
R4 |f#;E HEIE| 88 R4.12.11 —RoOH[ AR 70 140 40
R4 |f#;E HEIE| 89 R4.12.11 —RoOH[ AR 70 130 40
R4 |#:E HEE[ 90 R4.12.12 —koTHhHl AR | 50 125 40
R4 |f#;E HEIE| 91 R4.12.13 —RTH| AR 40 117 39
R4 |#:E DR 92 R4.12.16 A/ AZ | 70 130 27
R4 |#:E il 93 R4.12.17 —RooH| AR |60 125 36
R4 |f#;E DR 94 R4.12.17 —RTAH| AR 60 120 37
R4 |f#;E HEHE| 95 R4.12.18 —RTH| AR 40 100 38
R4 |f#;E DHEIE| 96 R4.12.19 —RTH| AR 80 135 46
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R4 |f#;E IR 97 R5.3.11 —RTH| AR 60 127 40
R4 |f#;E IR 98 R5.3.12 kU Hh AR | 40 115 30
R4 |f#;E IR 99 R5.3.12 —RTH| AR 60 125 38
R4 |f#;E $53 | 100 R5.3.12 —RTH| AR 70 130 40
R4 |f#;E #5101 R5.3.12 —RTH| AR 60 130 35
R4 |f#;E $hE | 102 R5.3.14 —RTH| AR 50 108 30
R4 |42 #4103 R5.3.14] =R I AH| AR | 60 120 35
R5 |t DI 1 R5.9.19 —coThAl AR | 60 125 42
R5 |t HiiE 2 R5.9.20 —hoThl AR | 60 120 44
R5 |t hHiiE 3 R5.9.21 —hoThl AR | 40 107 37
R5 |t HiiE 4 R5.9.25 —hoThl AR | 60 128 42
R5 |t HiiE 5 R5.9.26 —hoThl AX | 60 130 43
R5 |fd;E DI 6 R5.9.27 A/ AR 40 102 26
R5 |t HiiE 7 R5.9.27 —koTHhH AR | 60 120 42
R5 |t HiiE 8 R5.10.1 —RoOHl AX 60 135 40
R5 |t hHiiE 9 R5.10.2 —koTHhH AR | 60 140 40
R5 |t bhigE| 10 R5.10.2 —RoOHl AX 60 135 35
R5 |t bhiE] 11 R5.10.3 —hoThl AR | 40 115 40
R5 |t bhiE] 12 R5.10.3 —hoThl AZX | 80 152 45
R5 |t bhiE] 13 R5.10.5 —hoThl AZX | 60 127 43
R5 |t bhiE| 14 R5.10.7 —hoThl AR | 60 133 42
R5 |f#;E D[ 15 R5.10.9 A) | AZX | 40 108 27
R5 |t bhiE] 16 R5.10.12 —RoOHl AX 60 120 40
R5 |t b 17 R5.10.16 —koTH AR ]| 70 125 43
R5 |t bhiE] 18 R5.10.18 —RoOHl AX 60 121 45
R5 |t bhiE] 19 R5.10.19 —hoThl AR | 60 130 43
R5 |t bHEE| 20 R5.10.19 —hoThAl AR | 70 132 45
R5 |72 DR 21 R5.10.21 —hoThl AR | 70 130 44
R5 |t bhiE] 22 R5.10.26 —hoThl AR | 60 130 43
R5 |t bhiE] 23 R5.10.26 —oThl AR | 50 125 42
R5 |t bhidE| 24 R5.10.27 —hoThl AR | 70 140 40
R5 |t bhiE] 25 R5.10.30 —hoThl AR | 50 117 40
RS |42 DR 26 R5.10.31 —RooH AR] 70 140 40
R5 |t bhiE] 27 R5.11.1 —hoThl AR | 60 110 43
R5 |t i 28 R5.11.5 —RoOHl AX 70 128 36
R5 |t bHiE] 29 R5.11.5 —RoOH] AX 50 103 30
R5 |t bHEgE| 30 R5.11.7 —RoOHl AX 80 126 43
R5 |7Z D[ 31 R5.11.7 —koTH AR ]| 70 132 44
R5 |t bhiE| 32 R5.11.9 —RoOH] AX 60 115 42
R5 |t bHiE| 33 R5.11.9 —RoOHl AX 30 106 38
R5 |t bhiE| 34 R5.11.9 —RoOHl AX 60 118 43
R5 |t bhiE] 35 R5.11.11 —koTHhH AR | 30 110 29
R5 |t HigE| 36 R5.11.11 —hTh| AR 50 120 30
R5 |t HisgE| 37 R5.11.11 ZROThl AZX | 40 115 29
R5 |t bHii| 38 R5.11.11 —HhoThl AZX | 80 145 34
R5 |t bHiE] 39 R5.11.11 —hoThl AZX | 80 145 34
R5 |t HiEgE| 40 R5.11.13 —hTh| AR 70 130 46
R5 |t HiEgE | 41 R5.11.13 —hoTh| AR 60 125 43
R5 |t bhiE] 42 R5.11.15 —koTHhH AR | 50 108 42
R5 |t i 43 R5.11.16 —RoOH] AX 50 120 39
R5 |t i 44 R5.11.16 —RoOH] AX 70 145 44
R5 |t bhiE] 45 R5.11.19 —hoThAl AR | 70 130 44
R5 |f#;E D[ 46 R5.11.20 A0 AZX | 100 129 32
R5 |t bhiE| 47 R5.11.21 ZRODhl AR | 40 110 38
R5 |t b 48 R5.11.22 =P EE 70 130 42
R5 |t bhiE] 49 R5.11.23 —RoOH] AX 50 110 39
R5 |t bHEgE| 50 R5.11.25 ZRODhl AR | 40 105 41
R5 |f#;E DI | 51 R5.11.26 A/ AR 90 123 28
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02 M EMRXHEFEAK—ER (H27~R4IEER)

FE[ied o | s (B3| mEe BYZ |3 | 42 |ERE|#EE
R5 |#hE DR 52 R5.11.27 R AHA| AX | 70 140 44
R5 |#hE D] 53 R5.11.27 —RoDA| AX | 60 136 41
R5 |#hE D] 54 R5.11.27 R A| AX | 40 110 38
R5 |#hE D] 55 R5.11.29 —RoTHA| AX | 50 119 26
R5 |#hE D] 56 R5.11.29 —RoDA| AX | 60 130 30
R5 |#hE DR 57 R5.11.30 —RDA| AX | 40 120 42
RS |f82 D] 58 R5.11.30 R HA| AX | 50 1165 40
RS |f82 HEE|[ 59 R5.11.30 —coUA AR | 40 130 50
RS |f82 D] 60 R5.12.2 1479 AZX | 130 153 40
R5 |#hE D[ 61 R5.12.2 —RoUHA AR ]| 50 125 32
R5 |#hE DHERE| 62 R5.12.3 —RoDAHA| AX | 70 155 43
R5 |#hE D] 63 R5.12.3 —RDA| AX | 40 110 38
RS |f82 D] 64 R5.12.6 —RoTH| AR | 40 115 40
R5 |#hE D] 65 R5.12.7 —RoDA| AX | 40 118 38
RS |f82 D] 66 R5.12.8 —RoTH AR ] 70 130 30
R5 |#hE DR 67 R5.12.9 —RoDA| AX | 60 130 44
R5 |#hE D] 68 R5.12.9 —RoDA| AX | 60 120 40
R5 |#hE D] 69 R5.12.10 R HA| AX | 50 110 37
RS |f82 DR 70 R5.12.11 R HA| AX | 50 120 40
RS |f82 iR 71 R5.12.11 —RoDHA| AX | 50 138 40
R5 |#hE DR 72 R5.12.12 —RoDHA| AX | 80 143 42
R5 [#h;E HERE| 73 R5.12.14 —RoUHA AR | 80 133 44
R5 |#hE DR 74 R5.12.14 RV HA| AX | 70 136 42
R5 |#hE D] 75 R5.12.15 —RoDHA| AX | 80 134 43
R5 |#hE D] 76 R5.12.15 RV A| AX | 40 104 37
R5 |#hE DR 77 R5.12.17 —RDA| AX | 40 110 39
R5 [tz HEE| 78 R5.12.19 ROV HA| AR ]| 60 140 45
R5 [#h;E HERE| 79 R5.12.20 —ikoUH| AR 50 110 41
R5 |#hE D] 80 R5.12.21 —RDA| AX | 40 118 38
R5 |#hE pe Y R5.12.21 —RoDHA| AX | 60 132 40
R5 |#hE HiE| 82 R5.12.22 RV A| AX | 40 100 26
RS |f82 D] 83 R5.12.23 R HA| AX | 50 100 30
RS |f82 D] 84 R5.12.24 A4/ X | 70 120 35
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